Eleclroloice’

SL15-MB

Adjustable Mounting

Bracket Kit

¢ Easily mounted

¢ Ceiling suspended or wall
mounied

Adjustable angle positioning
Attractive black crinkled finish

Description

Mounting

The SL15-MB adjustable mounting bracket
kit is designed to permanently attach the
Electro-Voice SL15-2H either suspended
from the ceiling for better isolation or
mounted on the wall.

The SL15-MB allows the speaker to adjust
to different angles about its mounting cen-
ter, after it has been either suspended from
the ceiling or mounted to the wall. Locking
screws are included to secure the system's
final position. The SL15-MB allows the
SL15-2H to be mounted at 0°, +10° or +20°
to achieve the desired sound coverage.

The SL15-MB supports the SL15-2H with
four 1/4-20 hex-head screws which fasten
the bracket to threaded inserts preinstalled
in the speaker cabinet. A set of mounting
screws and shoulder washers are included
with the SL15-MB kit.

Three adjustment holes allow any of three
positions (0°,+10° and +20°) to be selected
and locked. Aligning the adjustment screw
with the hole position, sets the bracket at
0°, the next hole up is the +10° setting and
the highest hole is +20°,

To access the mounting inserts on the

SL15-2H, remove the desired cap plugs de-

pending on which mounting position is used.

For Wall Mounting: (See Figure 1)

1. Mount the SL15-MB bracket to the
wall.

Caution: Due to the weight of the
SL15-2H enclosure, it is imperative
that the SL15-MB bracket be secured
to the wall. The choice of fasteners
(not provided with bracket kit) will
be determined by the material and
construction of the wall. It is the re-
sponsibility of the Installer to ensure
the integrity of the mounting surface.

2. [Install provided shoulder washer and
screw in the easy mounting screw in-
sert position about 3/4 of the way in.
Also install the shoulder washer in the
appropriate adjustment insert hole.
(See Wall Mounting Figure 1)

3. Set the SL15-2H on the mounting
bracket by sliding the mounting posi-
tion screws into the easy mounting slot
and guiding it into the installed posi-

tion, which is all the way forward. Make
sure the bracket is placed between the
screw head and the shoulder washer.

4. Line up the rear locking hole with the
desired adjustment angle hole and in-
stall locking screw,

5. Tighten all screws.

For Ceiling Suspension: (See Figure 1)

1. Suspend the SL15-MB bracket to the

ceiling.
Caution: Due to the weight of the
SL15-2H enclosure, it is imperative
that the SL15-MB bracket be secured
to the ceiling. The choice of fasteners
(not provided with bracket kit) will
be determined by the material and
construction of the ceiling. It is the
responsibility of the Installer to en-
sure the integrity of the mounting
surface.

2. Install provided shoulder washer and
screw in the easy mounting screw in-
sert position about 3/4 of the way in.
Also install the shoulder washer in the
appropriate adjustment insert hole.

(See Ceiling Suspension Figure 1)



SL15-MB Adjustable Mounting Bracket Kit

SL 15-MB Adjustable Mounting Bracket Kit

3. Set the SL15-2H on the mounting
bracket by sliding the mounting posi-
tion screws into the easy mounting slot
and guiding it into the installed posi-
tion, which is all the way to the bottom.
Make sure the bracket is placed between
the screw head and the shoulder washer.

4. Line up the top locking hole with the
desired adjustment angle hole and in-
stall locking screw.

5. Tighten all screws.
Figure 1 illustrates how the SL15-2H is po-
sitioned on the SL15-MB bracket in the
ceiling-suspended position and the
wall-mounted position.

Uniform Limited Warranty

Electro-Voice products are guaranteed
against malfunction due to defects in mate-
rials or workmanship for a specified period,
as noted in the individual product-line
statement(s) below, or in the individual prod-

uct data sheet or owner’s manual, beginning
with the date of original purchase. If such
malfunction occurs during the specified pe-
riod, the product will be repaired or replaced
(at our option) without charge. The product
will be returned to the customer prepaid.
Exclusions and Limitations: The Limited
Warranty does not apply to: (a) exterior fin-
ish or appearance; (b) certain specific items
described in the individual product-line
statement(s) below, or in the individual prod-
uct data sheet or owner’s manual; (c) mal-
function resulting from use or operation of
the product other than as specified in the
product data sheet or owner’s manual; (d)
malfunction resulting from misuse or abuse
of the product; or (e) malfunction occurring
at any time after repairs have been made to
the product by anyone other than EVI Au-
dio Service or any of its authorized service
representatives. Obtaining Warranty Ser-
vice: To obtain warranty service, a customer
must deliver the product, prepaid, to

EVI Audio Service or any of its authorized
service representatives together with proof
of purchase of the product in the form of a
bill of sale or receipted invoice. A list of au-
thorized service represemtatives is available
from EV1 Audio Service at 600 Cecil Street,
Buchanan, MI 49107 (800/234-6831 or FAX
616/695-4743). Incidental and Conse-
guential Damages Excluded: Product re-
pair or replacement and return to the cus-
tomer are the only remedies provided to the
customer. Electro-Voice shall not be liable
for any incidental or consequential damages
including, without limitation, injury to per-
sons or property or loss of use. Some states
do not allow the exclusion or limitation of
incidental or consequential damages so the
above limitation or exclusion may not apply
to you. Other Rights: This warranty gives
you specific legal rights, and you may also
have other rights which vary from state to
state.

Figure 1—Mounting

Ny grL;c‘t}'(;\t”B provided with
: four 1/4-20 x 1.5 hex washer
head screw (63196)
/ ’_.,f./ /\\‘w__\
/%7 sl1s-H
‘ » ‘\il m\
;; ‘\‘\\ \ ‘\\
\(/ shoulder washer and screw /
position for easy mounting "‘*-\__\
e R \::f‘\ / o8
- S Fi
"\._\ \‘u?\%
t B Sl A
= S5 gasy install slot -~ .dggre[es ml
/ provided with four B sy ) %, a Ll
Z_ shoulder washers B T Vs i o

(38712)

&

SL15-MB
bracket

f'_‘:;h\, ¥ L e
\ e ~
[ 5. 5
e N ol
e " provided with four
[___ shoulder washers
.\ (38712)

shoulder washer and screw
position for easy mounting

AL MOUNTING

C



SL 15-MB Adjustable Mounting Bracket Kit

Electro-Voice Flying Hardware (including
enclosure-mounted hardware and rigging ac-
cessories) is guaranteed against malfunction
due to defects in materials or workmanship
for a period of one (1) year from the date of
original purchase. Additional details are in-
cluded in the Uniform Limited Warranty
statement.

For warranty repair, service information, or
a listing of the repair facilities nearest you,
contact the service repair department at:
616/695-6831 or 800/685-2606.

For technical assistance, contact Technical
Support at 800/234-6831 or 616/695-6831,
M-F, 8:00 a.m. to 5:00 p.m. Eastern Stan-
dard time.

Specifications subject to change without
notice.

Specifications

Mounting Bracket Kit:
Contains one bracket assembly,
designed specifically to allow the
SL15-2H to be hung from the ceiling
or mounted on the wall, four shoulder
washers and four 1/4-20 x 1.5 inch
hex washers, head screws for securing
the SL15-2H

Mounting Holes:
Four .280 inch diameter clearance
holes, evenly spaced 7.75 inches apart

Enclosure Position feature:
Three position holes are provided to
decrease slippage due to vibration.
Provides a 0°, +10° or +20° for
alternative aiming angles

Finish:
Net Weight:

Shipping Weight:

Speaker Mounting Feature:

The bracket has an easy mounting slot
for simpler installations

Material:

Cold rolled steel
Black crinkled paint
249 kg (5.51b)

3.175 kg (7.0 Ib)

Dy IdeIg Bupunow a|qeisnipy gW-S 1S



